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CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

1 1 1
Q)Ifa+b+c=3,a2+b?+c2=6and a+ +— =1, wherea,

C
b, ¢ are all non-zero, then abc 1S equal to \ LQ + ac + aé m
- abe =be+ab+ac
i o 7
@ 3 - . abe \,\4\—//

1 1
C — d) —
) 2 @ 3 ALL: 7,-6;: ‘3_
waen/ (A +L+C) ';3 /' (02%‘2-}'}7: A a q

v

(a+1>+c)2: aQH,z@z t Aab + Abc+ dca
A ab 4 6@/—}0\)

()= 6 + 3abe)
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1 1 1
Q)Ifa+b+c=3,a2+b2+c2=6and —+—+— =1, wherea,

a b ¢
b, ¢ are all non-zero, then 'abce' 1s equal to
2 3
@ 3 ® 3
1 q 1
© 3 @ 3

Ans: (b)



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

Q)If x? +y? — 4x +4y+8 =0, then the valueofx —y1s

@ 4 \__/ b) —4

© 0 (d) 8 1’0
(12/#17‘-@)‘/—(&'1*'[’(77"_7):0 = Q-('«R):@

(-3)" + (4#3)" = 0

A"

2
=2 (x-3)*>0  an{ 9’*37 > 0
1-q d: -9

<

————
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Q)If x? +y? —4x +4y+8 =0, then the value of x — y is

@ 4 (b) —4
© 0 (d) 8

Ans: (c)
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Q) What is the simplified form of 12_ x4 ,,? [x 3

X* =3x+2 x> =9 x> 4+ 2x% +4x = =
3 - 5 X B ? 2
x" =8 X“+7x+12 X" +3x-4 4 X -3X1R -p

P x o 52 (2-1)(2-2) =0

q X+3
(d) X+4

*-%43 xzf‘o\z HL (1} +ad #9%)
13- § 22%314{

e mﬁj{) x!/)&/) <\/ /
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@i=]

EXAMS

Q) What is the simplified form of

x> —3x+2 _ x> -9 » X +2x° +4x o
x> -8 x? +7x +12 x? +3x -4

X X-2

@ <3 (b) <3
X+3

© X+3 O X+4

Ans: (a)



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3
6 4

1
Q)Ifa=3+2 \/E,thenthevalueofa b ;La S - 3+aly
S a .
@ 192  (b) 240 YoM (@) 212 VA
a
o i) 2[8) = 24
Ly 0 L b T = 3-a
a a* a’ L _ 3
- [6) "‘?{é) (Z)l-/o?‘/;)l
a3¢«+_/fi = dlb /3 = 304 - 34

(a!ﬁj (ad)-g(ﬁl) /‘”1) o :<;f4/4/)f/3-4ﬁ)

(a*,a[)g 424.7{ a[l)f3/a)2

——
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2% ra*trat+1 _
Q)Ifa=3+2 /2, then the value of 3 1S
a
(a) 192 (b) 240 (c) 24 (d) 212

Ans: (c)



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

Q)Ifx = 3+2I then the value of { lx J is
@ 1 b) 2
© 22 (d) 343
7 - /2+(/§)27‘ A \/;—%L
= (14/3) " el - (fi-1)
Vr - [ +3 | /] -

—/—z / 2 /’\@ ol l/‘?“'/
Vi [HR =2
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( .
Q)Ifx =3 +2/2 , then the value of L\/;——J is

@ 1 b) 2
© 242 @ 33

Ans: (b)
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e _ —
7 - ? ; -—6— = 0
Q)In solving a problem, one student makes a mistake in the =~ ﬁ.

coefficient of the first degree term and obtains —9 and —1
for the roots. Another student makes a mistake 1n the ZL -0y + 7 - 0
constant term of the equation and obtains 8 and 2 for the i
roots. The correct equation was AT
@ x>+10x+9=0 b) x*-10x+16=0 ( L
© x>-10x+9=0 (d) None of these Kef = ’7 b=-10

Qr*+ bx+¢ =0 .

———

)\
-9, - / o(/B:_C_ N o\(ﬁ:ﬁ,; (’4)(’/? a1 +bu+¢ =0
| y* - (4+p)z + 4p =D
8/4/ 0{{-/Q: b > -6 - Zl’('—ézf =0

12
a a
w
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Q)In solving a problem, one student makes a mistake in the
coefficient of the first degree term and obtains —9 and —1
for the roots. Another student makes a mistake in the
constant term of the equation and obtains 8 and 2 for the
roots. The correct equation was
@ x*+10x+9=0 (b) x*—10x+16=0
© x>-10x+9=0 (d) None of these

Ans: (c)
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Q)For what value of k, will the roots of the equation

kxz—Ser6=(lbei11therati00f2:3‘? Lk - ékz
(@0 V)
© -1 @ 2 P (ke ek = 0
("(/ /9) ‘ p(:7f_ (ék k,/) )
A1p = § Ap=£ —3) AN
— /< - /('— -0
A : o :7)7@/ 6 ’ 20
T 7)) % °’
L —— — (/cmnnof’ be gew
LY =5 5 p:- 558 -3 i of ¥
efn@/ Al 7<-,7f ' % —i—i'% Mma//[ayf%)
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Q)For what value of k, will the roots of the equation
kx” — 5x + 6 = 0 be in the ratio of 2 : 3?

(@ O b) 1
) -1 d) 2

Ans: (b)
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Q) — b ¢ o , then find the value of
l-a 1-b6 1-c
1 1 1
+ +
l-a 1-b6 1-c¢
@ 1 (b) 2
) 3 (d) 4

Ans: (d)
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N2

Q) Ifx=b+c—2a,y=c+a—2b, z=§1_+b—2c, then the value
of x? +y* —z% + 2xyis

& 0 b) a+b+c
(¢) a—b+c (d) a+b-c

zﬁﬂz-zl %ﬂ(%_
(249)" - 2*
(14 #5) (12 %)

(0+b7‘07

\!
(o
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Q) [fx=b+c—2a,y=c+a—2b,z=a+ b—2c, then the value
of x? +y* —z? + 2xyis
@ O (b) a+b+ic
(¢) a—b+c (d) a+b-c

Ans: (a)
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Q) Ifa + b+ ¢ = 8, then the value of
(a—4Y+b-3Y+(c-1P-3@-4)b-3)(c—1)is

@ 2 (b) 4
(c) 1 0
A= a-
f " piare = (a-9) +(6-3)4 (¢-1)
B:é’B :Efé+£—g2 g - -
¢ = C-)

434 Bl - 3ABC = (/47‘3%6){/427‘82-/-&2’/43’86— 0/9

- 0

——



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

Q) Ifa + b+ c= 8, then the value of
(a—4Y+b-3Y+(c-1P-3@-4)b-3)(c—1)is
(@) 2 (b) 4
(¢) 1 (d) 0

Ans: (d)
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Q)Ifa= ./g+./5 b= /6 —+/5 then2a?—Sab+2b?=

(2) 38 C B 39
() 40 d) 41
2(e446 - ab) —ab /

3(a-4)" - ab
(1-6) = 35 |

2
Oé:éffa/ 7 07(0?\/}) ’/

> x40 ~] = @
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Q)lfa= J€+J§ b= \/8_\/5 then 2a2 — Sab + 2b% =

(@) 38 (b) 39
() 40 d) 41

Ans: (b)
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Q) Ifx + i = 4, find the value of x> +

X

(a) 8

(c) 16

4

- L]

)
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Q) Ifx + 4 =4, find the value of x° + { .
X x‘j
1
@ 8 ®) 8
1
©) 16 @ 16>

Ans: (b)
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Q)Ifx+y+z=11.x°+y° +z2=133 and x° +3°+23 = 881, then
e A

3 —_—
the value of A/ XV= 15

ot -6 () 6 © -8  (d) 8
LI e = [+ Livtegt _oay - 4z -zx
et - Sy = (g [ty et - iy geey)

(1l = izl gmrey A
8¢/ - B?z //(,33_(5))
It - /33 +o?(xd«+d’x+m)

R = 48/ |52 9
/133 xav yu&'x d( 3/ - 3//(/'(:-'6

WR ~64& _ -2l
= 1d+0'z+/(l’;—é\/ d/ —3 - _L
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Q)Ifx+y+z=11.x°+y° +z2=133 and x° +3°+23 = 881, then

3 - :
the value of A/ XV= 1s:

(@) -6 (b) 6 (c) -8 (d) 8

Ans: (a)
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Q)If o and p are the roots of the equation x* — 6x + 6 = 0,
Z whatis o’ + B> + o> + B* + o + B equal to?

C—

(@) 150 (b) 138
(c) 138 (d) 124 63-37(6 4 42__02)(6 + 6
T - (-¢) Ap - b
] N6 — 18 +326 =12+
A+p -6 y o,(/B:é _ A48

w,./} 7‘3(__7‘_&-/'0(‘*/9 - —
[(’(_f) ,3J)] [(vj_f? -ﬂé]”””ﬂ‘)f
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Q)If o and p are the roots of the equation x* — 6x + 6 = 0,
what is o + B> + o’ + B> + o + B equal to?

(a) 150 (b)y 138
(c) 138 () 124

Ans: (b)
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QIfP=7+ 4\/5 and PO = 1, then what is the value of
1/P% +1/0%?

@ 196  (b) 194 © 206 (d) 182
(++945)4 = |
0. | _ - FHE - 4B eyl

s ()= (vh)" 9=yt

-P%"” éz: M 2 (ID‘fQ)L"RPQ ‘;(M)L"/}{"? = [16-4
LAL — —
ST TG
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QIfP=7+ 4~/§ and PO = 1, then what is the value of
1/P? +1/0%?
(@) 196 (b) 194 () 206 (d) 182

Ans: (b)
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Q)Ifx +y+z=0, then what is the value of 3y + x% +2%)/(2)?
—xz)?

@ 2 b) 1 © 32 () 573
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Q)Ifx +y+z=0, then what is the value of 3y + x% +2%)/(2)?
—xz)?
(@ 2 (b) 1 (c) 372 (d) 573

Ans: (a)
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Q)If a2 + b2 + 2 + 96 = 8(a + b —2¢), then ab—bc+ca is
equal to:

@ 6 (b) 242 ) 4 @ 2.3
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Q)If a2 + b2 + 2 + 96 = 8(a + b —2¢), then ab—bc+ca is
equal to:

@ 6 (b) 242 ) 4 @ 2.3

Ans: (c)
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Q)1f \/ SG—GU\E = qa - b\E , then what will be the value

) .
of \/ a’ +b° , correct to one decimal place?

@ 84  (b) 82 © 78 (@) 72
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Q)1f \/ SG—GU\E = a - b\E , then what will be the value

) .
of \/ a’ +b° , correct to one decimal place?

@ 84  (b) 82 © 78 (@) 72

Ans: (c)
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1

1 1
Q)If a +E=b+g= C+E (wherea = b =), then abc is equal to

(@) +1 (b) -1
(c) +l1&-1 (d) None of the options
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1 1 1
Q)If a +E:b+E: C+E (wherea = b =), thenabcisequal to

(@) +1 (b) -1
(c) +1&-1 (d) None of the options

Ans: (c)



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

Q)If x_.3-2=0 and };—\/5+\/§:0 then value of

° —2082)— (37 +242)
@ 3 (b) 2 © 0 d 1
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Q)If x_.3-2=0 and };—\/5+\/§:0 then value of

° —2082)— (37 +242)
@ 3 (b) 2 © 0 d 1

Ans: (c)



CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

Q)Ifa+ b+ ¢+ d=4then the value of
| . |
(I—a)(1-b)(1-<) (1-b)(1-e)(1-d)

i l
(I_C)(l_d)(l_a)+(l—d)(1_a)(l—b) is.

_I_

@ 0 (b)y 1 (c) 4 (d) 1+abed
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Q)Ifa+ b+ ¢+ d=4then the value of
| . |
(I—a)(1-b)(1-<) (1-b)(1-e)(1-d)

i l
(I_C)(l_d)(l_a)+(l—d)(1_a)(l—b) is.

_I_

@ 0 (b)y 1 (c) 4 (d) 1+abed

Ans: (a)
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Q)If (x° —):3) (a2 +:x,j:+y2) =5:1 and

(x* - f) :(x—y)=7:1, then theratio 2x : 3y equals

@ 2:3 (b) 4:1 (¢c) 4:3 (d) 3:2
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Q)If (»° —y3)  (x? +;)g:+y2) =5:1 and

(x* - f) :(x—y)=7:1, then theratio 2x : 3y equals

@ 2:3 (b) 4:1 (¢c) 4:3 (d) 3:2

Ans: (b)
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Q) What fraction 1s that whose numerator being doubled and

2
denominator increased by 7, the value becomes — . but
D

when the denominator being doubled, and the numerator

-

D
increased by 2, the value becomes g?

(@) 3/5 ®) 45 () 5/7 @ 711
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Q) What fraction 1s that whose numerator being doubled and

2
denominator increased by 7, the value becomes — . but
D

when the denominator being doubled, and the numerator

-,

D
increased by 2, the value becomes g?

(@) 3/5 ®) 45 () 5/7 @ 711

Ans: (b)
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2
Q) Farah got married 8 years ago. Today her age is 17 times

her age at the time of her marriage. At present her daughter’s
age 1s one-sixth of her age. What was her daughter’s age 3
years ago?

(@) 6 years (b) 4 years

(¢) 3 years (d) None of these
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2
Q) Farah got married 8 years ago. Today her age is 17 times

her age at the time of her marriage. At present her daughter’s
age 1s one-sixth of her age. What was her daughter’s age 3
years ago?

(@) 6 years (b) 4 years

(¢) 3 years (d) None of these

Ans: (c)
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Q)Ifx, v, z are the three factors of a> — 7a — 6, then value of
x+y+zwillbe

(a) 3a (b) 3 (¢) 6 (d) a
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Q)Ifx, v, z are the three factors of a> — 7a — 6, then value of
x+y+zwillbe

(a) 3a (b) 3 (¢) 6 (d) a

Ans: (a)
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QIf x=a2+a7V2, y=g"? -7

(' =x*y? =D+ —x%y® +1)

, then value of

(@) 16 b) 14 © 12 (@ 13
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QIf x=a2+a7V2, y=g"? -7

(' =x*y? =D+ —x%y® +1)

, then value of

(@) 16 b) 14 © 12 (@ 13

Ans: (a)
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Q) Ifa + =1, find the value of > +5° —azb—(az2 —172)2

(@ 0 (b) 1 © -1 @ 2
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Q) Ifa + b= 1, find the value of &’ +b> —ab —(a* —b*)*

(@ 0 (b) 1 © -1 @ 2

Ans: (a)
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Q)If Bx-2y):(2x+3y)=5:6, then one of value of

]
{)/;_%/; 1S

1 1
@23 O3 © 5 @S
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Q)Ifa+b+c=0, find the value of atb

2b

b+c

C

@ O ®) 1
© -1 (d 2

ct+a

_|_

ad
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Q)Ifa+b+c=0,ﬁndthevalueofa+b— 26 +b+c
c c+a a
@ 0 (b) 1
© -1 (d) 2

Ans: (a)
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Q)Ifx’ +y3 +22=3(1 +x)2), P=y+z—x,0=z+x—yand
R = x + y — z, then what 1s the value of
P°+ Q°+R’-3POR?

@ 9 b) 8 © 12 @ 6

@i=]
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@i=]

EXAMS

Q)Ifx’ +y3 +22=3(1 +x)2), P=y+z—x,0=z+x—yand

R = x + y — z, then what 1s the value of
P’ + O’ + R~ 3POR?
(a) 9 (b) 8 (¢) 12 (d) 6

Ans: (c)
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Q) Which one is one of the factors of

1 1
}:2+—j+8(}{+—J+14?
N~ X
};'l+1 b x'l+3
(@) X+ (b) x+—
1 1
() X+—+6 (dy x+—+7

X X
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Q) Which one is one of the factors of

X%+ Lj+s(x+lj+14 ?
N~ X
(a) };+l+1 (b) }:+l+3
X X
(c) }:+l+6 (d) }:+l+7
X X

Ans: (c)
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Q) The value of & for which

Xx+2y+7=0

2x+ky+14=0
and represent coincident lines 1s
@ 3 (b) 4

(c) —4 (d) -3
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Q) The value of & for which

Xx+2y+7=0

2x+ky+14=0
and represent coincident lines 1s
@ 3 (b) 4
(c) 4 (d) -3

Ans: (b)
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QIf x*+y°+z> =xy+yx+zx, then the value of

3x* +7y" +52°

7 2 2 2 > 5 1S
SX“y +Ty"z" +3z°x"

(@) 1 (b) 2 © -1 (@ 0




CDS & AFCAT 2 2024 LIVE CLASS - MATHS - PART 3

QIf x*+y°+z> =xy+yx+zx, then the value of

3x* +7y" +52°

7 2 2 2 > 5 1S
SX“y +Ty"z" +3z°x"

(@) 1 (b) 2 © -1 (@ 0

Ans: (a)
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Q)If 24/2x° — 3\@;1/3 = (v2x— \/gy) (Ax% + By? + Cxy), then the
value of 42 + B2 — C2 is:
(a) 11 (b) 7 (c) 19 (d) 10
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Q)If 24/2x° — 3\@3}3 = (v2x— \/gy) (Ax* + By* + (), then the
value of 42 + B2 — C2 is:
(@) 11 (b) 7 (c) 19 (d) 10

Ans: (b)
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Q)If the roots of the equation
(a® + b?) x% — 2(ac + bd)x + (c¢* + d?) = 0 are equal, then
which of the following is true?

(@) ab=-cd (b) ad=bc
©) ad =+lbc A ab=+Jcd
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Q)If the roots of the equation
(a® + b?) x% — 2(ac + bd)x + (c¢* + d?) = 0 are equal, then
which of the following is true?

(@) ab=-cd (b) ad=bc
(c) ad:@ (d) ab:\/a

Ans: (b)
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Q) Consider the following statements :
1  The equation 1990x — 173y = 11 has no solution in
integers for x and y.
2. The equation 3x — 12y = 7 has no solution 1
integers for x and y.
Which of the above statements 1s/are correct?

(@) 1 only (b) 2 only
(¢c) Both 1 and 2 (d) Neither 1 nor 2
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Q) Consider the following statements :
1  The equation 1990x — 173y = 11 has no solution in
integers for x and y.
2. The equation 3x — 12y = 7 has no solution 1
integers for x and y.
Which of the above statements 1s/are correct?

(@) 1 only (b) 2 only
(¢c) Both 1 and 2 (d) Neither 1 nor 2

Ans: (c)
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X y z

Q) If

a,

2x+y+7) B (X+2y+27) B (X+y+27) -

then find‘a’if x+y+z#0

1 1
() 5 (b) Z
© L @ L
8 2
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X y z

Q) If

a,

2x+y+7) B (X+2y+27) B (X+y+27) -

then find‘a’if x+y+z#0

1 1
() 5 (b) Z
© L @ L
8 2

Ans: (d)
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